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1) narjmWu gd©àW‘ AnZo àíZ nÌ na Zm‘m§H$ A{Zdm¶©V… {bI|&

2) g^r g^r g^r g^r g^r àíZ A{Zdm¶© h¢&

3) àË¶oH$ àíZ H$m CÎma Xr JB© CÎma-nwpñVH$m ‘| hr {bI|&

4) {OZ àíZm| ‘| AmÝV[aH$ IÊS> h¢, CZ g^r Ho$ CÎma EH$ gmW hr {bI|&

5) àíZ H$m CÎma {bIZo go nyd© àíZ H$m H«$‘m§H$ Adí¶ {bI|&
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IÊS - A

SECTION - A

1) ~hþM¶ZmË‘H$ àíZ …
Multiple Choice Questions:
{ZåZm§{H$V àíZm| ‘| {XE JE ghr {dH$ën H$m M¶Z H$a CÎma H$mo CÎma-nwpñVH$m ‘| {b{IE …-
Write the answer in answer - book by selecting the correct option given in the
following questions:
i) EH$ na‘mUw Ho$ Zm{^H$ Ho$ {bE {ÌÁ¶m H$s H$mo[Q> ‘rQ>a ‘| h¡ - [½]

A) 10–15 ~) 10–10

g) 1010 X) 1015

Order of radius for nucleus of an atom in meter is-
A) 10–15 B) 10–10

C) 1010 D) 1015

ii) Bbo³Q´>m°Z H$m ImoOH$Vm© h¡ - [½]
A) JmoëS>ñQ>rZ ~) Wm°‘gZ
g) S>mëQ>Z X) Ý¶yQ>Z
Discoverer of electron is-
A) Goldstein B) Thomson
C) Dalton D) Newton

iii) ‘mÜ¶‘ H$s Mwå~H$s¶ nmaJå¶Vm Ho$ {bE àVrH$ h¡ - [½]
A)  ~)  0

g) r X) m
Symbol for magnetic permeability of a medium is-
A)  B)  0
C) r D) m

iv) AÕ©Va§J {Xï>H$mar Ho$ {bE C{‘©H$m JwUm§H$ h¡ - [½]
A) 0.21 ~) 0.48
g) 1.21 X) 1.48
The ripple factor for half wave rectifier is-
A) 0.21 B) 0.48
C) 1.21 D) 1.48
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v) Am¶{ZH$ ¶m¡{JH$ h¡ - [½]
A) CH4 ~) Cl2

g) CH3Cl X) NaCl
Ionic compound is-
A) CH4 B) Cl2

C) CH3Cl D) NaCl
vi) AnyU© Aï>H$ dmbm ¶m¡{JH$ h¡ - [½]

A) BCl3 ~) CH4

g) XeF4 X) PF5

Compound with incomplete octet is-
A) BCl3 B) CH4

C) XeF4 D) PF5

vii) bmb Mt{Q>¶m| Ho$ AmgdZ go àmá ¶m¡{JH$ h¡ - [½]
A) CH4 ~) CH3OH
g) HCOOH X) CH3COOH
Compound obtained from distillation of red ants is-
A) CH4 B) CH3OH
C) HCOOH D) CH3COOH

viii) ì¶wËnÞ àUmbr ‘| CH3– CH2– OH H$m Zm‘ h¡ - [½]
A) EWoZm°b ~) ‘o{Wb H$m~uZm°b
g) E{Wb H$m~uZm°b X) E{Wb EoëH$mohm°b
The name of CH3– CH2– OH in Derived System is-
A) Ethanol B) Methyl carbinol
C) Ethyl carbinol D) Ethyl alcohol

ix) M‘JmX‹S> Ûmam nam{JV nmXn h¡ - [½]
A) H$ZH$moAm ~) H$MZma
g) ZmOmg X) {‘am{~{bg
The plant pollinated by bat is-
A) Commelina B) Bauhinia
C) Najas D) Mirabilis
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x) EH$~rOnÌr ‘yb ‘| CnpñWV g§dhZ nybm| H$s g§»¶m h¡ - [½]
A) 2 ~) 6
g)  2 go 6 VH$ X) 6 go A{YH$
Number of vascular bundles present in monocot root is-
A) 2 B) 6
C) From 2 to 6 D) More than 6

xi) ‘bo[a¶m ~wIma Ho$ CnMma Ho$ {bE Cn¶moJr h¡ - [½]
A) Hw$Z¡Z ~) htJ
g) Q>a‘o[aH$ Vob X) H$moS>rZ
Useful for the treatment of malaria fever is-
A) Quinine B) Asafoetida
C) Turmeric oil D) Codeine

xii) ¶{X EH$ Obr¶ {db¶Z H$s gm§ÐVm 6% hmo Vmo {db¶Z Ho$ {bE {dgaU Xm~ Ý¶yZVm (DPD) H$m ‘mZ
hmoJm - [½]
A) 0 ~) 4
g) 6 X) 94
If the concentration of a aqueous solution is 6% then the value of diffusion
pressure deficit (DPD) for the solution will be-
A) 0 B) 4
C) 6 D) 94

xiii) g§K AmWm}nmoS>m H$m àmUr h¡ - [½]
A) Am°³Q>mong ~) {~ÀNw>
g) H|$MwAm X) Vmam ‘N>br
Animal of phylum Arthopoda is-
A) Octopus B) Scorpion
C) Earthworm D) Star fish

xiv) H$sQ>mhmar àmUr h¡ - [½]
A) ‘ÀN>a ~) H$m°H$amoM
g) IaJmoe X) ‘|T>H$
Insectivorous animal is-
A) Mosquito B) Cockroach
C) Rabbit D) Frog
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xv) ¶y[a¶m H$m AUwgyÌ h¡ - [½]

A) NH3 ~) NH2OH

g) NH4OH X) NH2CONH2

Molecular formula of urea is-

A) NH3 B) NH2OH

C) NH4OH D) NH2CONH2

xvi) ewH«$mUw H$m EH«$mogmo‘ dmbm ^mJ h¡ - [½]

A) {ga ~) J«rdm

g) ‘mBQ>moH$m°pÊS´>¶m X) ny±N>

Part of sperm having acrosome is-

A) Head B) Cervix

C) Mitochondria D) Tail

2) {ZåZm§{H$V àíZm| Ho$ {bE [aº$ ñWmZm| H$s ny{V© CÎma-nwpñVH$m ‘| H$s{OE …

Fill in the blanks in answer-book for following questions:

i) EH$ Bbo³Q´>m°Z H$s Hw$b D$Om©, J{VO D$Om© Am¡a ................. H$m ¶moJ hmoVr h¡& [½]

The total energy of an electron is the sum of kinetic energy and ________.

ii) ao{S>¶moY‘u {dKQ>Z go àmá YZmdo{eV H$Um| H$mo ................... H$hVo h¢& [½]

Positively charged particles obtained from radioactive decay are called_____.

iii) hdm Ho$ {bE Mwå~H$Z àd¥{V H$m ‘mZ .................. hmoVm h¡& [½]

The  value of magnetic susceptibility for air is______.

iv) YmVwAm| ‘| ................ H$s CnpñW{V Ho$ H$maU {dÚwV MmbH$Vm àX{e©V hmoVr h¡& [½]

Electric conductivity in metals is exhibited due to presence of_______.
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v) hrao ‘| ....................... g§H$[aV H$m~©Z CnpñWV hmoVm h¡& [½]

______hybridised carbon is present in diamond.

vi) Q>oâbm°Z Ho$ EH$bH$$ H$m Zm‘ ................ h¡& [½]

Name of the monomer of teflon is________.

vii) g‘mZ EH$bH$ BH$mB¶m| go ~Zo ~hþbH$ H$mo ..................... H$hVo h¢& [½]

The polymer formed by similar monomer units is called______.

viii) bmb ê${Ya H${UH$mAm| H$m {dZme .................... ‘| hmoVm h¡& [½]

Destruction of red blood cells occur in the_______.

ix) ñdñW ‘Zwî¶ ‘| à{V {‘ZQ> ................... öX¶ MH«$ àX{e©V hmoVo h¢& [½]

A healthy human being exhibits______ heart cycles per minute.

x) ‘mXm ¶w½‘H$m| H$mo .................... ^r H$hVo h¢& [½]

Female gametes are also called_______.

IÊS - ~
SECTION - B

3) A{VbKwÎmamË‘H$ àíZ …

Very short answer questions:

i) {dÚwV {ÛY«wd Ho$ Aj Ho$ bå~dV {H$gr q~Xþ na {dÚwV {d^d H$m ‘mZ {b{IE& [1]
Write the value of electric potential at any point perpendicular to the axis of
the electric dipole.

ii) EH$ H$m±M H$s N>‹S> H$mo aoe‘r H$n‹S>o na aJ‹S>Zo go YZmdo{eV hmoZo dmbr dñVw H$m Zm‘ {b{IE& [1]
Write name of the thing that become positively charged by rubbing a glass
rod on silk cloth.
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iii) Jwê$ËdmH$f©U ~b H$s àH¥${V H$mo g‘PmBE& [1]
Explain nature of the gravitational force.

iv) àmH¥${VH$ ~hþbH$ H$mo n[a^m{fV H$s{OE& [1]
Define the natural polymer.

v) ¶moJO VWm g§KZZ ~hþbH$m| Ho$ ‘Ü¶ H$moB© EH$ AÝVa {b{IE& [1]
Write any one difference between addition and condensation polymers.

vi) nm°{bdmB{Zb ³bmoamBS> Ho$ {Z‘m©U ‘| {Z{hV amgm¶{ZH$ A{^{H«$¶m H$m g‘rH$aU {b{IE& [1]
Write equation of chemical reaction involved in formation of polyvinyl chloride.

vii) ‘Zwî¶m| ‘| {H$VZo Omo‹S>r ‘oê$ V§{ÌH$mE± hmoVr h¢? {b{IE& [1]
How many pairs of spinal nerves are there in humans? Write.

viii) ~{h… òmdr Am¡a AÝV… òmdr J«pÝW¶m| Ho$ ‘Ü¶ H$moB© EH$ AÝVa {b{IE& [1]
Write any one difference between exocrine and endocrine glands.

IÊS> - g
SECTION - C

bKwÎmamË‘H$ àíZ …

Short answer questions:

4) 3d CnH$jH$ Ho$ {bE (n + l) ‘mZ H$s JUZm H$s{OE& [1½]
Calculate the (n + l) value for 3d subshell.

[ Turn Over
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5) ‘w»¶ ¹$mÊQ>‘ g§»¶m H$mo g‘PmBE& [1½]
Explain principal quantum number.

6) N - àH$ma Ho$ AÕ©MmbH$ Ûmam àX{e©V MmbH$Vm H$mo g‘PmBE& [1½]
Explain the conductivity exhibited by N-type semiconductor.

7) AJ« A{^Z{V A{^bmj{UH$ dH«$ àmá H$aZo Ho$ {bE EH$ àm¶mo{JH$ n[anW {MÌ ~ZmBE& [1½]
Draw an experimental circuit diagram to obtain the forward bias characteristic
curve.

8) BF3 AUw H$m H$jH$ {MÌ ~ZmBE& [1½]
Draw orbital diagram of BF3 molecule.

9) nwîn ‘| CnpñWV nw‘§J H$s g§aMZm H$m dU©Z H$s{OE& [1½]
Describe structure of the androecium present in the flower.

10) AmÝV[aH$ g§aMZm Ho$ AmYma na n{Îm¶m| Ho$ VrZ àH$ma {b{IE& [1½]
Write three types of leaves on the basis of internal structure.

11) hëXr Ho$ H$moB© Xmo Am¡f{Y¶ Cn¶moJ {b{IE& [1½]

Write any two medicinal uses of turmeric.

12) àH$me g§íbofU H$mo n[a^m{fV H$s{OE Am¡a Bg‘| {Z{hV amgm¶{ZH$ g‘rH$aU {b{IE& [½+1=1½]
Define photosynthesis and write chemical equation involved in it.

13) A‘r~m ‘| OZZ H$m dU©Z H$s{OE& [1½]
Describe reproduction in amoeba.

14) AÝV…ídgZ Am¡a {Z…ídgZ H$s VwbZm H$s{OE& [1½]
Compare inhalation and exhalation.

15) Y«wdnrVH$s AÊS>o H$s g§aMZm H$m dU©Z H$s{OE& [1½]
Describe structure of the telolecithal egg.
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IÊS> - X
SECTION - D

XrK© CÎmar¶ àíZ …

Long answer questions:

16) EH$ {dÚwV n[anW ‘| VrZ à{VamoY 3, 3Am¡a 4loUrH«$‘ g§¶moOZ ‘| Ow‹S>o hm| Vmo JUZm H$s{OE -
[1½+1½=3]

i) n[anW Ho$ {bE Vwë¶ à{VamoY

ii) {dÚwV Ymam (¶{X n[anW ‘| 6 dmoëQ> H$s ~¡Q>ar Ow‹S>r h¡&)

Three resistances 3, 3 and 4 are connected in series combination in an electric
circuit. Then Calculate-
i) Equivalent resistance for the circuit.
ii) Electric current (If a battery of 6 volt is connected in the circuit)

AWdm/OR
¶{X EH$ 2à{VamoY Vma H$s b§~mB© Am¡a AZwàñW H$mQ> joÌ’$b H«$‘e… 0.25 ‘rQ>a Am¡a 0.005 dJ©‘rQ>a hmo
Vmo BgH$s à{VamoYH$Vm H$s JUZm H$s{OE& [3]
If the length and area of cross section of a 2resistance wire are 0.25 meter and
0.005 square meter respectively then calculate its resistivity.

17) {dÚwV ‘moQ>a H$mo n[a^m{fV H$s{OE Am¡a BgH$s H$m¶©àUmbr H$mo g‘PmBE& [1+2=3]
Define electric motor and explain its working.

AWdm/OR
i) {dÚwV Mwå~H$s¶ àoaU Ho$ {bE ’¡$amS>o H$m àW‘ {Z¶‘ {b{IE&

ii) {Xï> Ymam Am¡a àË¶mdVu Ymam ‘| AÝVa H$s{OE&

[1+2=3]
i) Write Faraday's first law for electromagnetic induction.
ii) Differentiate between Direct Current and Alternative Current.

[ Turn Over
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18) ³bmoamoEWoZ H$mo LiAlH4 Ûmam AnM{¶V H$aZo na EH$ g§V¥á hmBS´>moH$m~©Z [X] ~ZVm h¡& ewîH$ B©Wa H$s
CnpñW{V ‘| ‘o{Wb ~«mo‘mBS> H$s gmo{S>¶‘ Ho$ gmW A{^{H«$¶m go ^r [X] ~ZVm h¡& [X] H$m Zm‘ d amgm¶{ZH$
gyÌ VWm {Z{hV amgm¶{ZH$ A{^{H«$¶mAm| Ho$ g‘rH$aU {b{IE& [½+½+1+1=3]

A saturated hydrocarbon [X] is obtained on reducing the chloroethane by LiAlH4.
[X] can also be obtained from the reaction of methyl bromide with sodium in
presence of dry ether. Write name and chemical formula of [X] and equations of
the chemical reactions involved.

AWdm/OR

EWmBZ H$s Ðd A‘mo{Z¶m ‘| gmo{S>¶‘ Ho$ gmW A{^{H«$¶m go EH$ gmo{S>¶‘ ¶m¡{JH$ [A]  ~ZVm h¡& ‘o{Wb
³bmoamBS> Ho$ gmW [A]  H$s A{^{H«$¶m go EH$ EoëH$mBZ [B] ~ZVm h¡& [A] d [B] Ho$ Zm‘ VWm {Z{hV
amgm¶{ZH$ A{^{H«$¶mAm| Ho$ g‘rH$aU {b{IE& [½+½+1+1=3]

A sodium compound [A] is obtained on the reaction of ethyne with sodium in
presence of liquid ammonia. An Alkyne [B] is obtained on the reaction of [A] with
methyl chloride. Write names of [A] & [B] and equations of the chemical reactions
involved.

IÊS> - ¶
SECTION - E

{Z~§YmË‘H$ àíZ …
Essay type questions:

19) i) Ðd-J¡g gmå¶mdñWm H$mo Cn¶wº$ CXmhaU XoH$a g‘PmBE&
ii) A B C D 

Cnamoº$ amgm¶{ZH$ A{^{H«$¶m Ho$ {bE KC H$m ì¶§OH$ ì¶wËnÞ H$s{OE&
[2+2=4]

i) Explain the Liquid-Gas equilibrium by giving suitable example.
ii) A B C D 

Derive the expression of KC for above chemical reaction.
AWdm/OR
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i) gmå¶mdñWm na CËàoaH$ Ho$ à^md H$mo g‘PmBE&

ii)        A C A C A Cs aq aq aqg l g l g l  

EH$ g§V¥á {db¶Z Ho$ Cnamoº$ gmå¶ Ho$ {bE Ksp H$m ì¶§OH$ ì¶wËnÞ H$s{OE&

[2+2=4]
i) Explain effect of the catalyst on equilibrium.

ii)        A C A C A Cs aq aq aqg l g l g l  

Derive expression of Ksp for above equilibrium of a saturated solution.

20) i) YmpËdH$ Am~§Y H$mo n[a^m{fV H$s{OE&

ii) {ZñVmnZ Am¡a ^O©Z ‘| AÝVa H$s{OE&

iii) dmË¶m ^Å>r H$mo {M{ÌV H$s{OE&

[1+1½+1½=4]
i) Define metallic bond.
ii) Differentiate between calcination and roasting.
iii) Draw the blast furnace.

AWdm/OR
i) A¶ñH$ Ho$ MyUuH$aU H$mo n[a^m{fV H$s{OE&

ii) YmVw emoYZ H$s AmgdZ {d{Y H$mo g‘PmBE&

iii) hm°b-hoamëQ> àH«$‘ Ûmam Eobw{‘{Z¶‘ Ho$ {ZîH$f©U ‘| à¶wº$ d¡ÚwV AnKQ>Zr gob H$mo {M{ÌV H$s{OE&

[1+1½+1½=4]
i) Define pulverisation of the ore.
ii) Explain the distillation method of metal purification.
iii) Draw the electrolytic cell used in extraction of aluminium by Hall-Heroult

process.


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